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PROBLEM:

(a) Evaluate the following integral:
∫ ∞

−∞

δ(ω − 0.2π)e jωt dω.

Provide some explanation or intermediate steps to justify your answer.

(b) Plot x(t) =
sin(5π t)

t
versus t for all t between −1 and 1. Label all important features such as peaks

and zero crossings.

(c) Use the Fourier transform to find the DC value of the sinc function in part (b). In other words,

evaluate the integral
∫ ∞

−∞

sin(5π t)

t
dt . Again, provide some explanation or intermediate steps to

justify your answer.
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